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PART -B
ZOOLOGY

Q.31) The collar cells in sponges primarily function
in?

(A) Gas exchange and excretion

(B) Water current generation and food capture

(C) Skeletal support by spicules

(D) Reproduction and gamete formation

Q.32) Polymorphism in cnidarians is best illustrated
in?

(A) Obelia colony
(C) Hydra polyp

(B) Aurelia medusa
(D) Physalia colony

Q.33) In Ascaris lumbricoides, the excretory system
consists of?

(A) Protonephridia

(B) H-shaped renette cells

(C) Nephridia in each segment

(D) Flame cells arranged in pairs

Q.34) The trochophore larva is a characteristic of
(A) Polychaetes (B) Cnidarians
(C) Echinoderms (D) Onychophora

Q.35) Which one of the following is a connecting link
between Annelida and Arthropoda?

(A) Rotifera (B) Chaetognatha

(C) Onychophora (D) Phoronida

Q.36) The water vascular system of echinoderms
opens to the exterior through
(A) Stone canal

(C) Ring canal

(B) Tube feet
(D) Madreporite

Q.37) The cartilaginous fishes differ from bony
fishes in having

(A) Operculum-covered gills

(B) Streamlined body

(C) Air bladder for buoyancy

(D) Lateral line organs

Q.38) Poison apparatus in cobras is derived from
(A) Buccal papillae

(B) Modified salivary glands

(C) Pancreatic ducts

TRB

(D) Lacrimal glands

Q.39) Which one of the following is an egg-laying
mammal?

(A) Echidna
(C)BothAand B

(B) Platypus
(D) None of these

Q.40) The typical excretory organ in Amphioxus is
(A) Protonephridia with solenocytes

(B) Malpighian tubules

(C) Nephridia in all segments

(D) Renette cells

Q.41) The social caste system in honeybees is
determined by

(A) Genetic constitution only

(B) Fertilization of eggs only

(C) Quality of royal jelly supplied

(D) Size of comb cells

Q.42) The lac insect secretes lac from
(A) Abdominal glands

(B) Salivary ducts

(C) Antennal pores

(D) Thoracic appendages

Q.43) The poultry breed “Leghorn” is widely known
for

(A) Egg laying capacity
(C) Disease resistance

(B) Meat quality
(D) Brooding habit

Q.44) The most important silkworm disease caused
by protozoais
(A) Flacherie
(C) Pebrine

(B) Muscardine
(D) Grasserie

Q.45) The cattle breed “Murrah” is famous for
(A) Dual-purpose use

(B) High milk yield in buffaloes

(C) Draught ability only

(D) Resistance to parasites

Q.46) The nucleolus is primarily involved in
(A) DNA replication

(B) rRNA synthesis and ribosome assembly
(C) Protein degradation

P.T.O



(D) Lipid synthesis

Q.47) Which one of the following is absent in
prokaryotic cells?

(A) DNA

(B) Ribosomes

(C) Membrane-bound organelles

(D) Plasma membrane

Q.48) Z-DNA differs from B-DNA in being
(A) Left-handed double helix

(B) Right-handed double helix

(C) Composed of different bases

(D) Without phosphate groups

Q.49) Okazaki fragments are synthesized during
(A) Transcription

(B) Leading strand DNA synthesis

(C) Lagging strand DNA synthesis

(D) RNA processing

Q.50) Telomerase is active in
(A) Neutrophils

(B) Mature RBCs

(C) Somatic fibroblasts

(D) Germline and cancer cells

Q.51) Independent assortment of genes takes place
during

(A) Anaphase of mitosis

(B) Metaphase of mitosis

(C) Metaphase | of meiosis

(D) Prophase Il of meiosis

Q.52) The unit of genetic recombination introduced
by Benzer is
(A) Cistron
(C) Recon

(B) Muton
(D) Codon

Q.53) The maternal effect in shell coiling in Limnaea
is an example of

(A) Inheritance by informosomes

(B) Mendelian Inheritance

(C) Multiple allelism

(D) Mutational inheritance

TRB

Q.54) Polygenic inheritance is best exemplified by
(A) ABO blood groups

(B) Colour blindness

(C) Hemophilia

(D) Human skin colour

Q.55) Cytoplasmic inheritance is typically shown by
(A) Nuclear DNA

(B) Y-linked genes

(C) Mitochondrial DNA

(D) Dominant alleles

Q.56) Osmoregulation in marine bony fishes occurs
through

(A) Drinking seawater and excreting salts via gills
(B) Excreting dilute urine

(C) Storing water in the swim bladder

(D) Avoiding seawater intake

Q.57) The Bohr effect in respiration refers to
(A) Increased O, affinity at high CO,

(B) O,release promoted at low pH

(C) O, stored in muscles by myoglobin

(D) O,uptake by brown fat

Q.58) The chloride shift in CO, transport occurs in
(A) Plasma only (B) Red blood cells
(C) Alveoli (D) Platelets

Q.59) Brown adipose tissue in mammals is
specialized for

(A) Non-shivering thermogenesis

(B) Fat storage

(C) Structural insulation

(D) Urea excretion

Q.60) Echolocation in bats is based on
(A) Infrared rays

(B) Magnetic fields

(C) Ultrasonic sound waves

(D) Vibration detection

Q.61) The sliding filament theory of muscle
contraction was proposed by

(A) Loewi and Dale

(B) Hodgkin and Huxley

(C) Huxley and Niedergerke

(D) Meyerhof and Hill
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Q.62) The respiratory pigment haemocyanin is found

in

(A) Annelids (B) Arthropods &
molluscs

(C) Amphibians (D) Reptiles

Q.63) Saltatory conduction in myelinated neurons

occurs at the

(A) Axon hillock

(C) Nodes of Ranvier

(B) Dendrites
(D) Axon terminals

Q.64) The urea cycle occurs mainly in the
(A) Kidney (B) Liver
(C) Spleen (D) Intestine

Q.65) Aldosterone hormone promotes
(A) Sodium reabsorption

(B) Calcium reabsorption

(C) Glucose uptake

(D) Protein synthesis

Q.66) Imprinting behaviour was first studied by
(A) Pavlov (B) Skinner
(C) Konrad Lorenz (D) Karlvon Frisch

Q.67) Waggle dance in honeybees indicates
(A) Nest construction

(B) Direction and distance of food

(C) Queen identity

(D) Colony defence

Q.68) Kin selection theory explains
(A) Population control

(B) Courtship display

(C) Predator—prey interaction

(D) Altruistic behaviour

Q.69) Courtship displays in ducks are examples of
(A) Operant learning

(B) Classical conditioning

(C) Innate behaviour

(D) Imprinting only

Q.70) The inclusive fitness concept was introduced
by

(A) Darwin
(C) Hamilton

(B) Wallace
(D) Mayr
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Q.71) The geological period known as “Age of
Reptiles” is
(A) Permian
(C) Devonian

(B) Mesozoic
(D) Silurian

Q.72) The first amphibians appeared in which
geological period?
(A) Devonian

(C) Jurassic

(B) Triassic
(D) Carboniferous

Q.73) The mass extinction at the end of the
Cretaceous period wiped out
(A) Mammals
(C) Dinosaurs

(B) Amphibians
(D) Fishes

Q.74) The “Out of Africa” theory is widely accepted
for the origin of

(A) Neanderthals
(C) Modern humans

(B) Homo erectus
(D) Australopithecus

Q.75) The cranial capacity of Homo erectus was
approximately
(A) 600 cc
(C)1200cc

(B) 900 cc
(D) 1600 cc

Q.76) In Drosophila, sex determination is based on
(A) Presence of the Y chromosome

(B) Dosage compensation only

(C) Ratio of X chromosomes to autosomes

(D) Genetic imprinting

Q.77) The phenomenon of crossing over occurs at
(A) Pachytene (B) Diplotene
(C) Leptotene (D) Zygotene

Q.78) A pleiotropic gene is one that

(A) Controls sex linkage

(B) Produces only lethal effects

(C) Affects multiple traits simultaneously
(D) Functions only in heterozygotes

Q.79) Heterosis in breeding refers to
(A) Loss of vigour in hybrids

(B) Genetic drift in populations

(C) Superior performance of hybrids
(D) Inbreeding depression
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Q.80) Polytene chromosomes are typical of
(A) Mammalian sperms

(B) Amphibian oocytes

(C) Human leukocytes

(D) Dipteran larvae

Q.81) The chemiosmotic hypothesis of ATP
synthesis was given by

(A) Fisher (B) Peter Mitchell
(C) Pauling (D) Calvin

Q.82) In mitochondria, ATP synthase is located in
(A) Outer membrane (B) Matrix
(C) Inner membrane (D) Cytosol

Q.83) Histone acetylation is generally associated
with

(A) Gene activation

(B) DNA repair

(C) Gene silencing

(D) RNA transport

Q.84) Programmed cell death (apoptosis) involves
(A) Cell swelling and necrosis

(B) Random DNA synthesis

(C) DNA fragmentation and cell shrinkage

(D) Viral infection

Q.85) Alternative splicing of pre-mRNA results in
(A) Proteome diversity

(B) Increased chromosome number
(C) Reduced mutation rates

(D) Gene silencing

Q.86) RAPD molecular markers are
(A) Codominant in nature

(B) Dominant with random primers
(C) Based on restriction digestion
(D) Dependent on cDNA only

Q.87) The selectable marker gene in the pBR322
plasmid is

(A) GFP gene

(B) B-galactosidase

(C) Ampicillin resistance

(D) Kanamycin phosphotransferase
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Q.88) Electroporation is a method used for
(A) DNA sequencing

(B) Gene transfer using electric pulses

(C) Protein detection

(D) ELISA assay

Q.89) Southern blot technique is used for the
detection of

(A) RNA (B) Proteins
(C) DNA (D) Lipids

Q.90) ELISA is based on

(A) DNA hybridization

(B) PCR amplification

(C) Chromosome staining

(D) Antigen—antibody enzyme reaction

Q.91) The Hardy-Weinberg equilibrium holds true
only if

(A) Small populations exist

(B) Random mating and large population size

(C) High mutation rates occur

(D) Directional selection is present

Q.92) Genetic drift has maximum effect in
(A) Large panmictic populations

(B) Populations with gene flow

(C) Populations with high recombination
(D) Smallisolated populations

Q.93) Allopatric speciation does NOT occur due to
(A) Vicariance

(B) Genetic drift

(C) Founder effect

(D) Behaviouralisolation

Q.94) Disruptive selection results in

(A) Elimination of all extremes

(B) Maintenance of intermediates

(C) Favouring both extreme phenotypes
(D) Constant stabilizing pressure

Q.95) Which of the following represents meristic
traits

(A) Body weight

(B) Ridges in fingerprint

(C) Diabetes

(D) Schizophrenia
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Q.96) In ecology, an ecotone is characterized by
(A) Homogeneous species composition

(B) Edge effect with high diversity

(C) Absence of predators

(D) Constant population size

Q.97) Gause’s principle explains
(A) Symbiosis

(B) Competitive exclusion

(C) Mutualism

(D) Neutralism

Q.98) The r-strategy of populations is associated
with

(A) High fecundity and minimal parental care

(B) Large body size and long lifespan

(C) Slow reproduction

(D) Stable population density

Q.99) Hotspots refer to

(A) Area with a high concentration of biodiversity
(B) High reproducing organs dwelling area

(C) Large empty lands

(D) Restored wetlands

Q.100) In primary succession on bare rocks, pioneer
species are usually

(A) Higher plants

(B) Freshwater algae

(C) Lichens

(D) Ferns

Q.101) Bohr effect in haemoglobin is due to
(A) Increase in oxygen partial pressure

(B) Decrease in pH and rise in CO,

(C) Storage of oxygen in myoglobin

(D) Presence of carbonic anhydrase

Q.102) Deoxygenated blood is carried by
(A) Carotid artery

(B) Pulmonary artery

(C) Carotid vein

(D) Pulmonary vein

Q.103) Myoglobin differs from haemoglobin in
(A) Storage of O, in muscles

(B) Transport of CO,

(C) Buffering blood pH
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(D) Controlling osmotic pressure

Q.104) Calcitonin in mammals is secreted from
(A) Parathyroid gland (B) Thyroid gland
(C) Adrenal cortex (D) Pituitary gland

Q.105) Thymosin hormone is secreted by
(A) Pineal gland (B) Pancreas
(C) Thymus (D) Hypothalamus

Q.106) The juxtaglomerular apparatus secretes
(A) Aldosterone (B) ADH
(C) Renin (D) Angiotensin

Q.107) In mammals, glomerular filtration is driven
by

(A) Osmotic gradient (B) Tubular secretion
(C) Hydrostatic pressure (D) Hormonal control
Q.108) Ammonotelic animals mainly excrete

(A) Ammonia (B) Uric acid

(C) Urea (D) Creatinine

Q.109) Animals living in dry xeric environments
excrete

(A) Urea (B) Ammonia
(C) Uric acid (D) Creatinine

Q.110) Haemerythrin is a respiratory pigment
presentin

(A) Arthropods (B) Molluscs

(C) Sipunculans & priapulids (D) Cephalopods

Q.111) In amphibian eggs, the grey crescent marks
the site of

(A) Future anterior pole

(B) Future dorsal side

(C) Yolk accumulation

(D) Ventral lip of blastopore

Q.112) The Spemann organizer is located at

(A) Animal pole

(B) Dorsal lip of blastopore

(C) Vegetal pole

(D) Ventral marginal zone

Q.113) Cortical rotation in amphibians establishes
(A) Left-right asymmetry

(B) Cleavage planes

(C) Dorsal-ventral polarity
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(D) Mesoderm induction

Q.114) In chick embryos, the primitive streak is
homologous to

(A) Neural crest

(B) Blastoporal lip of amphibians

(C) Yolk sac

(D) Archenteron

Q.115) Hensen’s node in the chick embryo functions
as

(A) Organizer for axial structures

(B) Germ cellinducer

(C) Yolk storage centre

(D) Source of blood islands

Q.116) Passive immunization can be referred to
which of the following patients?

(A) Healthy bone marrow

(B) Immunocompromised patients

(C) Vaccinated patients

(D) Hypersensitive patients

Q.117) The word “humour” in humoral immunity
refers to

(A) B cells

(C) Body fluids

(B) Antibodies
(D) Lymphatic system

Q.118) Salamander limb regeneration depends on
(A) Dedifferentiation of local cells into blastema
(B) Yolk sac stem cells

(C) Germline stem cells

(D) Bone marrow precursors

Q.119) Planarian regeneration ability is due to
(A) Yolk reserves

(B) Neural crest cells

(C) Neoblasts

(D) Mesoderm induction

Q.120) Metamorphosis in amphibians is primarily
regulated by
(A) Cortisol

(C) Prolactin

(B) Thyroxine
(D) Growth hormone

Q.121) Ininsects, moulting and metamorphosis are
regulated by
(A) Juvenile hormone only
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(B) Prothoracicotropic hormone only
(C) Ecdysone and juvenile hormones
(D) Insulin-like growth factor

Q.122) Aging in mammals is closely linked with the
shortening of
(A) Centromeres
(C) Introns

(B) Telomeres
(D) Exons

Q.123) In echinoderms, metamorphosis involves a
change from

(A) Radial larva to bilateral adult symmetry

(B) Pseudocoelomate to coelomate

(C) Diploblastic to triploblastic condition

(D) Bilateral larva to radial adult symmetry

Q.124) The optic vesicle induces the overlying
ectoderm to form

(A) Retina (B) Cornea

(C) Lens placode (D) Iris

Q.125) The Pax6 gene is essentially required for the
development of

(A) Kidney (B) Heart

(C) Liver (D) Eye

Q.126) Sonic hedgehog (SHH) signalling is important
in

(A) Dorsal neural tube patterning

(B) Limb dorsalization

(C) Ventral neural tube patterning

(D) Somitogenesis only

Q.127) Neural crest cells in vertebrate development
contribute to

(A) Muscle fibres

(B) Notochord

(C) Peripheral nervous system

(D) Liver cells

Q.128) In Flow cytometry, SSC indicates
(A) Cell size (B) Cell integrity
(C) Cell complexity (D) Cell fluorescence

Q.129) In mammals, trophoblast cells give rise to
(A) Embryo proper
(B) Placental structures
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(C) Yolk sac
(D) Neural crest

Q.130) The radioisotope used in PET scan imaging
(A) Fluorine-18 (B) Nitrogen-13
(C) Oxygen-15 (D) Gallium-68

Q.131) Vogt is credited with constructing the first
fate map of

(A) Chick embryo

(B) Human embryo

(C) Amphibian gastrula

(D) Drosophila blastoderm

Q.132) Primordial germ cells in mammals are
derived from

(A) Neural crest

(B) Endoderm

(C) Notochord

(D) Paraxial mesoderm

Q.133) How do you convert a compound
microscope into a Phase contrast microscope?
(A) Add a pinhole camera

(B) Insert a phase plate

(C) Use fluorescent dyes

(D) Perform negative staining

Q.134) Axis formation in amphibians is associated
with the stabilization of

(A) B-catenin (B) Tubulin proteins

(C) Keratin filaments (D) Actin bundles

Q.135) DNA replication in E.coli is carried out by
(A) DNA Polymerase | (B) DNA Polymerase
(C) DNA Polymerase Il (D) None of the above

Q.136) The Goosecoid gene in amphibians is
associated with

(A) Eye morphogenesis
(C) Somitogenesis

(B) Organizer activity
(D) Yolk sac growth

Q.137) The pronephros in vertebrate embryos is
(A) Permanent kidney in fishes

(B) Transient embryonic kidney

(C) Metanephric kidney

(D) Mesonephric duct only
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Q.138) The Miillerian duct in humans develops into
(A) Fallopian tubes (B) Vas deferens
(C) Epididymis (D) Testes

Q.139) The burst of major animal phyla that
increased in complex life forms is called

(A) Cambrian explosion (B) Mass extinction
(C) Ice age (D) Age of reptiles

Q.140) The pioneers of active immunization by
vaccines were

(A) Mendel and Spallanzani

(B) Fisher and Haldane

(C) Edward Jenner and Louis Pasteur

(D) Emil von Behring and Kitasato
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Q.141) The Mid-Day Meal Scheme has been
renamed as which of the following?

(A) PM Aahar Yojana

(B) PM Annapurna Scheme

(C) PM POSHAN

(D) PM Nutrition Mission

Q.142) The main goal of the NIPUN Bharat Mission
is to ensure foundational literacy and nhumeracy for
children by the end of which grade?

(A) Grade 1 (B) Grade 2

(C)Grade 3 (D) Grade 5

Q.143) “Jaadui Pitara” is mainly targeted for:
(A) Secondary school students

(B) Parents only

(C) Teacher educators

(D) Foundation stage learners

—_ ~— ~— ~—

Q.144) “Integral education” covering five aspects of
human development is a concept advocated by:
(A) Sri Aurobindo

(B) Jiddu Krishnamurti

(C) Vivekananda

(D) Tagore

Q.145) Who is considered the Father of Sociology?
(A) Max Weber

(B) Auguste Comte

(C) Karl Marx

(D) Emile Durkheim

~ -l ~— ~

Q.146) Rousseau’s educational philosophy best
supports which concept?

(A) Societal control

(B) Naturalistic development

(C) Industrialization of education

(D) Rote memorization

—_ ~— ~— ~—

Q.147) When was Anna University, a premier
institution for engineering and technology,
established?
(A) 1929

(C) 1982

(B) 1957
(D) 1978
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Q.148) Who is hailed as the "Father of the Tamil
film industry" and is known for producing and
directing the first silent film in South India?

(A) K. Balachander

(B) Dada Saheb Phalke

(C) R. Nataraja Mudaliar

(D) S. S. Vasan

Q.149) Which Chola king is famous for his naval
expeditions that extended the empire to
Southeast Asia?

(A) Rajaraja Chola |

(B) Rajendra Chola l

(C) Kulothunga Chola |

(D) Adityal |

Q.150) Human brains having enactive, iconic and
symbolic modes of representation. This concept
formation was given by

(A) Bruner

(B) Pavlov

(C) Piaget

(D) Thorndike

Q.151) Pre-operational stage is one of the
important  stages of Piaget's cognitive
development between

(A) Oto 2years

(B) 11 years and above

(C)7to 11 years

(D) 2to 7 years

Q.152) Physical developmentis .
A) Quantitative in nature

Qualitative in nature

Reflective in nature

Continuous in nature

~—~

(

(B
(C
(D

~— ~—

Q.153) In Pavlov's classical conditioning, the
unconditioned stimulus (UCS) is a stimulus that:
(A) Elicits aresponse only after repeated pairing
(B) Elicits a response without prior learning

(C) Becomes neutral after conditioning

(D) Is the same as the conditioned
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Q.154) Thorndike's 'Law of Effect' states that
behaviors followed by satisfying consequences
are likely to be:

(A) Weakened

(B) Forgotten

(C) Repeated

(D) Generalized

Q.155) The Gestalt theory of learning emphasizes
that the learner perceives things as a:

(A) Collection of individual parts

(B) Whole or a unified pattern

(C) Random set of stimuli

(D) Response to a single stimulus

Q.156) The need to succeed, to excel, and to
achieve a high standard is known as:

(A) Self-Actualization

(B) Power Motivation

(C) Affiliation Motivation

(D) Achievement Motivation

Q.157) According to Guilford's 'Structure of
Intellect’ model, intelligence can be classified
along which three dimensions?

(A) Single, Two-factor, Multi-factor

(B) Operations, Contents, Products

(C) Componential, Experiential, Contextual

(D) Linguistic, Logical-Mathematical, Spatial

Q.158) Who proposed the 'Group-Factor Theory'
of intelligence, suggesting that intelligence is
composed of primary mental abilities like verbal
comprehension and spatial visualization?

(A) Louis Thurstone

(B) Charles Spearman

(C) Raymond Cattell

(D) J.P. Guilford

Q.159) Continuous and  Comprehensive
Evaluation (CCE) was legally supported under:
(A) NEP 2020

(B) RTE Act 2009 Section 29(2)

(C) Kothari Commission 1966

(D) NCERT 2000
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Q.160) Which of the following is the correct order of
the hierarchy in evaluation?

(A) Test » Measurement > Assessment > Evaluation
(B) Measurement » Test > Assessment > Evaluation
(C) Test » Assessment » Measurement - Evaluation
(D) Assessment > Evaluation > Measurement > Test

Q.161) A Mathematics Readiness Test to predict
performance in Algebra is an example of:

(A) Achievement Test

(B) Aptitude Test

(C) Diagnostic Test

(D) Prognostic Test

Q.162) Who is known as the father of the Great Man
Theory of leadership?

(A) Fiedler

(B) Thomas Carlyle

(C) Kurt Lewin

(D) Max Weber

Q.163) A student reflects on their learning strategy
and revises it for better performance. What type of
knowledge is this?

(A) Factual

(B) Procedural

(C) Metacognitive

(D) Conceptual

Q.164) The term Curriculum is derived from a Latin
word “currere” which means:

(A) To teach

(B) Torun/racecourse

(C)To learn

(D) To read

Q.165) Which principle of curriculum development
encourages addressing various learning styles and
preferences?

(A) Balance

(B) Individual Differences

(C) Utility

(D) Relevance

Q.166) Project-based, real-life learning in curriculum
best reflects which approach?

(A) Logical

(B) Spiral

(C) Unitary

(D) Topical

TRB

0.160) eTaupeusToupmPled 618 LDFLILTL 19 6oT
Flwmer Blewevpewm (Hierarchy) auflens?

(4) Cangemer — a1l BHFe0 — LG LILFH —

LS LILITUIGY

(B) a1adl(hFed — CFigener — oG LILTH —

LS LILITUIGY

(C) GaFngemest — LG LILTH — arai(BHFe —

LS LILITUIGY

(D) @ LILTH — wHLiuTwia] — aTalBHFe —
Gargemaer

0.161) @O wLigTalled GCFuaBDeveT Hellss
LIWGTLI(h SSLILI(BILD E T SWITHBe»6v
CFsema ............-5& @b T(BHSSHISHTL (B):

(4) Fngenesid CFmgen e

() Bpemia) Grrzemen

(C) sesstL_mF 60 CF1gem et

(D) (Lpestan L 195 HewstlLiL) CFrgenest

0.162) 10&LC W welgi Gsm Lim 96T (Great
Man Theory) SBeOSG WTG?

(4) oBLfL v (B) SMTLDGD HTHEHEV6D

(C) GUL. eyrailesr (D) Godav GlauLig

0.163) (b LOTEHTRUT FTH FHDGV 2 %H WL LIPm)
FEF3g, Fpps OCFUDBDHGEHTE IHDSF
B (BSSHIFDTH. Q)5 GTCHIGST 6L WL TEST?

(4) 2_essTen LD M6y

(B) pewL_(Lpeop Doy

(C) QoL L_mangefL 1961 9y Blay

(D) B3P wed 3Play

0.164) Curriculum eresip GlFmev WG e
UTTEeSWART “currere” @)eS(BbH 2 (HUTH DS,

Q@ ser ClLmpar:
(4) 5195500 (B) @®'50
(©) sppev (D) aun§l5gev

0.165) uTL_ @ 1L euerid@uileT 61555 OlFTeTenH
L Gaumy FDMDGD Limessil & T LopmiLh
QI (HLILIBISHEH QT S WTAT 2615 %% F) D )?

(4) FLoBlemev

(B) et 1L Goumim(h&er

(C) LwiesTLIT(R

(D) QTGS SLd

0.166) L 1L yugLiLieoL_ulevmest, Blgg THSH®S
OO  6ThS G UPPW  FpLiLTs
r@LdEFmGI?

(4) 3755 FHUWITET eI G (LpeOD

(B) #1p&d>|G8DI & (LpeOD

(C) RBELD 2GS (LPeOD

(D) S@@LIL| 3T LD

P.T.O



Q.167) Which institution leads the national Virtual
Labs project in higher education?

(A) IT Bombay

(B) llISc Bangalore

(C) IT Delhi

(D) NIT Trichy

Q.168. Which toolis India’s first Al-powered teacher
robot?

(A) Vedabot

(B) IRIS

(C) EAGLE

(D) AARNA

Q.169) TPACK was proposed by:
(A) Mishra & Koehler

(B) Skinner & Crowder

(C) Morrison & Hunt

(D) Gagné & Krathwohl

Q.170) Which platform is India's main MOOC
provider and also serves as an OER repository?
(A) SWAYAM Prabha

(B) Pathshala

(C) SWAYAM

(D) e-PG pathshala
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GENERAL KNOWLEDGE
QU giMiey

Q.171) The first Indian to become a member of
the British Parliament was?

(A) Mahatma Gandhi

(B) Dadabhai Naoroji

(C) Subhas Chandra Bose

(D) B.R. Ambedkar

Q.172) Which was a military title during
Sangam Age?

(A) Poligar

(B) Perumakkal

(C) Enadi

(D) Manigramattar

Q.173) The Directive Principles of State Policy
(DPSPs) in the Indian Constitution were
inspired from which country's Constitution?
(A) United States of America

(B) United Kingdom

(C) Ireland

(D) Canada

Q.174) The highest peak in the Aravalli Range
is__

(A) Mount Abu
(B) Anamudi

(C) Doddabetta
(D) Guru Shikhar

Q.175) Which of the following is classified as a
primary pollutant?

(A) Ozone

(B) Smog

(C) Sulphur dioxide (SO,)

(D) PAN

Q.176) On which date is India’s National
Sports Day celebrated?

(A) June 23

(B) August 29

(C) April 6

(D) September 5
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Q.176) On which date is India’s National
Sports Day celebrated?

(A) June 23

(B) August 29

(C) April 6

(D) September 5

Q.177) Which among the following
organisation released Multidimensional
Poverty Index in India?

(A) NITI Aayog

(B) Ministry of Economic Affairs

(C) National Statistics Office

(D) Ministry of Internal Affairs

Q.178) Who is known as the "Moon Man of
India"?

(A) Dr. K. Sivan

(B) Dr. Mylswamy Annadurai

(C) Dr. Vikram Sarabhai

(D) Rakesh Sharma

Q.179) The difference between the compound
interest and simple interest on 310,000 at 10%
perannum for2yearsis__ .

(A)X100

(B) X250
(C)R200
(D)X150

Q.180) NABARD stands for:

(A) National Bank for Agriculture and Rural
Development

(B) National Bureau for Agricultural Research
and Development

(C) National Authority for Banking and Rural
Development

(D) National Board for
Resource Development

Agricultural and
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Q.180) NABARD stands for:

(A) National Bank for Agriculture and Rural
Development

(B) National Bureau for Agricultural Research
and Development

(C) National Authority for Banking and Rural
Development

(D) National Board for
Resource Development

Agricultural and
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